102-2 TREREEERE HERE (—)

102 BFEIKR " FFE R SERESa
ITAREBEREE ZFXRB8 (—) FE§#
102-2-06-4

1 2 3 4 5 6 7 8 9 | 10| 11 |12 | 13 | 14 | 15 |16 | 17 | 18 | 19 | 20

c,A|B|/B|]CjCcC,B|D|C|B|A| D] C| D D|A|B|]A|D]|A

21 |22 | 23 |24 |25 |26 |27 |28 |29 (30 (3132|3334 )|35|36|37]|38]|39]40

c|laA|D/B|C|D|/A|B|B|A]C| D/ B|A|C|A|D|B|C]|D

— . 7.2M, =0 30x4—E_x8=0 E =15t
E—Ey - TiEh= a =0 AT S, xe=0 =5,

1. JE 711000 psi = 70 ke /om? » 7EAH ] 2 5/ NS LLER BT DE H i
SM, =0=15x8-E _x6=0=E_=20

\ _ ., 70
o /\¥ﬁ§& 200 FEEISE/JJ\{%\‘EQ fy HH#%Lj\mﬁﬁ Ré =152+20" > RE =25t
F
, 14
Fp=— 4
fy B L (¢
2. 715 6 1853 T AT LUAGEAL R R = {5 5% 6 t HL ARy i
55 60° > MEAEAE /A EITMIs JIERL 1200 » HeE 6 8
J1=6t HEFHEA F75.2 0 R EEBR AT 12t ”
3. B T W = AEAR R KRR ) 250 kg Z HEIE T ) D
W = 250%% =200 kg 6
5 bl E
Ry 8. LU BC F3#ififl : h = 60sin 60° = 51.96 cm
£ IM,. =0 K =F, =0 5
5°° h h
=R, xh-24x—-24x==0=R, =20kg
W, R, 3 2
<Re (R, =20kg ~ R, =8kg)
4. IM, =0=>800x0.5-2R, x1.5+400x2.75=0
=R, =500 kg . l AB
5. M. =0=>100h =100x90-60x50 = h = 60 cm 7
100cm
100kg +—2 B m H
90cm 9. P =P,=P, =P, =P
Cg D XF, =P, cos45°+P, cos45°—P, cos45°+P, cos45° =~/2P
50cm| SF, =P, sin45°+P, sin45° = /2P
B SF, = P, sin45°— P, sin45° = 0

v
60kg 60k
& OvRe R*=F’+F’+F’ =R =2P

6. K1/ P ) o SR A2 1 10. 220000 5 B 5 FRBE S R AT — 1S = (BE R 2.5 )
Px50>300x40 =P >240 * .". P =240 kg @NE, ~ F, %E,) Speerin C
11. SM, =0 = R, x4-120x2=0
=R, =60kg(")
U2 0 Y P
1 BCKKZIR ] S, 7
SM, =0 =S, x6+60x2=0 o U
=8, =20 kg (B8 ))) Lzﬂ.

H3E £18



12. K#HE > . R, =R, =32—0=15t

VAR, A F E i
4 4 3 3
_SAB X§+SAC XEZO&_SAB XE—SAC ><§=15

38,5 =12.5t(C) » S, =12.5t(T)
NS, =S, =12.5t(T)

- X 3 3
FHHENRS C B E HRE S, =S, x§+sAC 5= 15t (C)

30t
BYy
3m
A D
3m
C
| 4m | 4m |

< e ”l

13. 8 JJ#% : AB ~ BC ~ CG ~ BE
F7JJk% : AD ~ DE ~ EF ~ FG ~ CE
ZRF  BD ~ CF
VURIIR, #R, =S, # Sig
HGE(C)

14, {ERA RN b2 B iE R )
=200sin30°+500co0s30° =533.01 kg
= f'=0.3x533.01=159.9 kg
BATR R F2at IR
=200c0s30°—500sin30° = —76.8 kg ( [N VH )
{H76.8kg<159.9 kg » MEJ] N » SRR ILIKAE ;5 36
IRF Z FEA ) BRI RAT S 17 76.8 kg

15. f’=uN:15=ux75:u=%=0.2
Ok 30°R A 1% » HEE IR J] = 75— Psin30°
AT F 29T = Peos30°
P BN 2 PR P cos30° = 0.2x (75— Psin 30°)

> UL Soe # Sk

—P=15.53ke
16. BB BB EENIRTT - SEiE
17. 6, =% oo, =22 _14Mpa
n 3
= 14 MPa = 14000 KN/m>
Acale b SBKN s m?

c. 14000 KN/m’

w

=a=0.15m=15cm

18. ppm B2 A F R BRI - hRE T L
J& o BilJfE ) B A 4

19. be =3/40% + 60> +120° =140 cm

__ (140x20+40x20) _

= =10.0 cm
(120 +140+ 40+ 60)

£28

102-2 TREREEERE HEREF (—)

b
T
a&d
/@;n/ Oem™
VA C

<

"1

120cm
40cm X
20. #1575 [El R 1R 2 S
Il AB B4 3Z 5 t = 5000 kg -~ il 7] i /)

Il BC B&K% 5 tx% =3000 kg ZHili[a A

-, PL —~ (5000x500 2500000
O AB Bl DL g $0000x500)
AE AE AE
5 x IS
-1, PL .~ (3000x500 1500000
BC Bty Tl g5 3000x500)
AE AE AE
x5 12 S — 1500000 xé _ 900000
AE 5 AE
BCECHEPETE x 75 2 ST R 15
2500000 900000 3400000 3400000
+ = = =0.2cm
AE AE AE 17000000

ST - TRMH
2Lm)@0%5$1¥ﬁ%%%
(B) I 5B - et

©) C €BEIM L T2 2 b3k - B FlE i
o 5 B U R B H T A A

22, MEHEE A MR EHIE /5 300 g

23. KD IR G AR 38 R 50 mm 2 37 77 #EA

24 1A BK RS —MWigiseoKe

25, — % SR AR 2 BT E S 2400 kg/m’ - Fif LLEE
A7 R(1 m).Z¥Hi#E o = 2400%0.4x 0.5 = 480 kg/m

26. ISHIRYBHE R 2 M KIHEE » A B TR S I
I

27. B SR e TR L I FERE AR 15.5 em

28. FEHERRELFE 3" ~ 3/2" ~ 3/4" ~ 3/8" ~ #4 ~ #8 ~ #16 ~ #30
#50 ~ #100 5§ 10 [ » ANEFE#15 i

29 {H KR EE T B HFPR R L B T AR EE IR G R - A
ANERAL - MR B S A R PR 2 T T N
o LRl T

30. F1 S B K S GO

31.(A) HEAHHEB)AHIKEERBKES - FEHTEA
SEHERR & i
(C) fbiamAEs » FERMBAEREA
(D) T ARBEF1E H A A B 22 880 S o 11

32. K N IR B3R (Si0,) » REBE1(AL0;)

33, REREHUE BURRTRIE =200 kgf/cm® > IRKZES13% >
PURREIE 210 kef/cm? » IRIKZR 12% » £5& FREERE

o

H3E



102-2 TREREEERE HERE (—)

34.

35.

36.

37.

38.

39.

40.

B
il
0

PRI ~ BRI SN EL XK A 55 LU RS M ak
A% AR B RG FLIBRA & JERS S

st AL B SE AR R 2R B 75 20 o A B s A B ik A b
EREIRE > (R SR AR > v Y8 i 3 Mo 5
7~8 f&

EE WA ERER o BthE AR
4 0 B 2 RIR G IR RS o B o
i AR M BT KOk - ORI P 25 P K B

R T IEACE A T R o AT B 7 AR ke
ek

EHE R EFE 55°C~65°C & iR e n] DL iR AL i i
FEEIPLE SR

ZEIMEITEN R LI ~ B~ 582 - F2 - B
HREEFEE BN OB - 2GRt
e Z B E AR - (B A BT B

ﬁ)\l’&%ﬁlﬁ{ﬁﬁ}ﬁcm (=0.01cm)

£3 8



